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The respiration occurs via
(A) Lungs .

(B) Kidney

(C) Heart

(D) Brain

The O, is transported in the form
of :

(A) HbO,
(B) Hb,0,
(C) HbO

(D) HbCO,

First aid measure for drowning

person includes :

(A) Place the drowning person on

their back on a flat surface

(B) Call the drowning person and
shake their shoulder

(C) Start artificial respiration

(D) All of the above

(1)

3.

(A). HbO,® &1 ¥
(B) Hb,0,% =9 &
(C) HbO % &9 H
(D) - HbCO, % &1 &

% g4 A Al & ) arfe swEr
% U™ § onftrer @

(A) 39 9 AT B IFH G B aq
AT dd8 W ™

(B) zad U K B emEE 3 g
I0% FY e

(€) M @eT g6 w
(D) TwE asfr
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First aid
rsbard measure for hanging

includes :

(A) Loosening the strangulation

object

(B) Tightening the strangulation
object |
(C) Taken to the hospital

(D) Call the doctor

Heart beat initiates from :
(A) S.A. Node o

(B) A.V. Node

(C) Left lobe of the heart
(D) Right lobe of the heart

The circulatory system is made up

of :

(A) Heart

(B) Arteries

(C) Veins

(D) All of the above

In human, the heart is made up
of :

(A) 1 auricle, 1 ventricle
(B) 2 auricles, 2 ventricles
(C) 3 auricles, 1 ventricle

(D) 1 auricle, 3 ventricles

(2)

4.

5.

6.

7.
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(B) 7T Hieq arclt awg

(C) o & ST

(D) X & el

R 4 g3 O Bl 8

(A) Tg.uArE g

(B) udtAE 4
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qRE=RT = a1 Bl ©
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What 18 the main function of the

red blood corpuscles in the blood?
(A) To clot blood

(B) To fight diseases

(C) To transport oxygen to the .

body's cells and carry away
carbon dioxide from cells

(D) Totransport carbon dioxide to
the body's cells and carry away

oxygen from cells

What is the function of the blood

vessels and capillaries ?
(A) They pump blood to the heart

(B) They filter impurities from
the blood

(C) They carry blood to all parts
of the body

(D) They carry messages from the

brain to the muscles

. The normal b]()od pressure 18 :
(A) 140/80

(B) 140/100

(C) 120/80 -

(D) 120/100

10.

Gle o aret B et & e #
wr e 7

(A) Yo & ddH S 2
B) AN A w24 F kA

(C) TS &l ariX ol Hifaeen as
uga ug e @ FEd

| STEaHIRE @ BY
(D) FE SEaliaEe S HfEEl T
gEa ol e @ ST
o oI &
@ qiedel ud e & w® wd
g7

(A) B H R U9 BT

(B) TR Y AgREdl # OB
©) W@ F R F RO o T

QT ST
(D) HR=h @ HAURMAT q T Tgar

A TR 99 i ©
(A) 140/80

(B) 140/100

(C) 120/80

(D) 120/100



14.

15.

16.
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CAGE questionnaire is related to
(A) Dementia

(B) Alcoholism e

(C) Delirium

(D) Hallucination

A mental health condition in which
a person compulsively swallows

non food items :

(A) Picae

(B) Autism

(C) Bipolar disorder

(D) Obsessive Compulsive

Disorder (OCD)
Non-suicidal self injury includes :
(A) Injuringoneself -

(B) Helping others
(C) Injuringothers

(D) Protecting others

(5)

14.

15.

16.

71 (CAGI) gomaa e arafed 2

(A) UFTEde A
(B) I @ @d d
(C)l;ﬁrﬂqﬁr

(D) EgRmeE @

At aefos Refy fed w @i
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Sarfilord i HIdr e
17. Hallucinogen workson: 17. ¢ ‘»J
i qferam Al T
(A) Neural circuits (A)
(B) Muscles (13) mieferdl @
(C) Bones () gfezdl W

e fy el Aldd ceeeeees
18. A person with acute psychosis : 18, = fFﬁﬂ{Tﬁ SIIIRIES

(A) Forget about oneself (A) @A ol YT STl e
(B) areifass T T & A TG

T H o
©) gk @ S e

(B) Unable to discriminate

between real and unreal

(€) Memory loss

(D) Alwayslaugh (D) W g T R
19. Drug Imipramine is : , 19. @ar sfumeE 8

(A) Antimalarial (A) dEmaiEd

(B) Antipsychotic 2 : (B) wdaEHicH

(C) Antidepressant ‘ (C) udistd=

(D) Anti-alcoholic (D) yrE-feRy

20. Nihilistic delusions are related to: 2. YA 9 T R

(A) Schizophrenia e : (A) m YN
(B) Depression

(B) f2Uem @
(C) OCD

C) sand@ & g

(D) Delusions -
D) w3

CC-2001(BC)-Series-S (6)



21. The Physical changes occur during 21, dgarey g & Q0 &1 § 8149 ard
puberty of female includes : o qRgdst & gfmfad ®

A) Development of breast
( '-A.}I ?o reas (A)I?F{Qﬂﬁ
(B) Initiation of menstrual cycle
(C) Enlargement of ovary, uterus (B) =t o o AT B
and vagina (C) oferem, T Td g & &l
(D) All of the above - ; (D) Srded ash v
22. The female reproductive organs  22. HI& JofA9 = § gfmfad @ ¢
include : (A) ST
A) Ovary :
S ‘ (B) e
(B) Uterus
(C) Gafugs e
(C) Fallopian Tube
(D) Iue g4l

(D) All of the above -

23. The process of ovulation in female 23, #RT § Sgaie™ %1 ufekam e ad =

occurs between .......... {710 S - . B o, > SR i & g edl |
days of menstrual cycle. &) 12815
(A) 12to15e
B) 18420
(B) 18to 20
(C) 10912
(C) 10to 12
(D) 20t025 - (D) 20825
94. The semen is made up of : ‘ 24, 94 EbTﬁTﬁ"TT BT 8
(A) Sperm ‘ (A) Y a
(B) Scininal vesicle secretion . - (B) 9 gRw @@ i
(C) Prostate gland secretion - (C) e Iy g d
(D) All of the above (D) I G4l

" CC-2001(BC)-Series-S (7)




Rt & 2 EE SR

Sude

26.

26.

217.

28.

The process of fertihization occurs
in:

(A) Ovary

(B) Fallopian tubes.

(C) Uterus

(D) Cervix

Sperm counting in normal human
beingis:

(A) 50 to 150 million/mL e

(B) 20 million/mL

(C) 100 million/mL

(D) 500 million/mL

Which hormone is used for the |

detection of pregnancy ?

(A) Human Chorionic Gonadotro-
pin

(B) Estrogen

(C) Progesterone

(D) TSH

The gestation period in humanis:

(A) 280days -

(B) 300days

(C) 240days

(D) 350days

CC-2001(BC)-Series-S (8)

20.

26.

217.

28.

fyerr ) afbar fed ST GG
(A) i ‘

B) Safae AT

() Ml

(D) Tt Al

g

(A) 50 & 150 ffera /T
(B) 20 faferas /T

(C) 100 ffera= /e

(D) 500 fferg /TS

mfaren @ g § ganr B dR ar
FI-a1 gme 8 ?

A) T PRAEE R

(B) TENH

(C) 9SEIA

(D) #.uq.UH.

ud § TR Foany P o
(A) 280fF
(B) 300+
(C) 2407
(D) 350 =




99. The Intra-Uterine Contraceptive
Devices or IUCD is used for :
(A) Contraception
(B) Fertilization
(C) Abortion
(D) Lactation

30. The sexually transmitted diseases

include :

(A) AIDS

(B) Syphilis

(C) Human Papillomavirus

(D) All of the above

31. Liver secretes............ which helps

in fat digestion.

(A) Pepsin -

(B) Intestinal Juice
(C) Bile Juice

(D) Gastricd uice‘

32. The symptoms of
diarrhoea includes :

common

(A) Abdominal cramp and pain
(B) Nausea

(C) Loss of appetite
(D) All of the above 'y

CC-2001(BC)-Series-S (9)

29.

30.

31.

32.

sartsrterl mfeE IwEr IUCD)
1 T S g

A) mifeE & w9 A

(B) e &g

(C) T &Y
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33.

34.

35.

36.

37.
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Food poisoning 18 caused by :

(A) Salmonella

(B) Trypanosoma

©) Mycobacterium
(D) Entamoeba

Skin is made up of :
(A) Epidermis

(B) Hypodermis

(C) Dermis

(D) All of the above -

Which internal
provides protection for your joints?

membrane

(A) Serous

(B) Synovial

(C) Cutaneous

(D) Mucus

The main functions of skin are :
(A) Protection

(B) Water balance

(C) Regulate body temperature
(D) All of the above -

First degree burn involves the

burning of :
(A) Epidermis *
(B) Dermis
(C) Hypodermis

(D) All of the above three layers
(10)

33.

34.

35.

36.

37.

(D)aqﬁ'«k‘fmﬂ |
5 A € e e (F) S S
zﬁrwmaﬂ?ﬁ%?
(A) €A

(B) faifaaa

(C) Fgeiad

D) =*d
e & T

(A) I J& HET
(B) Ul & Ao S\ @
(C) ik aresd &t Fraf=a &
(D) IWH

% fofl & & st anfoe R
(A) ulusfia

B) sfta = \

(C) emwefig @
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S & guEr 2w A ardl S ar

38. The ointment used for burning 38.
treatment include : 92
(A) Silver Sulphadiazine (A) foeay AeHe™S
(B) Betadine (B) drEH
(C) Neosporin () R
(D) diererEr

(D) Betamethasone '
39. MM ﬁﬂﬁﬂmmﬂﬁ@zﬁﬂ"l%:

39. The most common gas poisoning 1s

caused by : ; (A) FHEF HFISTFAES
(A) Carbon monoxide © (B) FHEw SRS
(B) Carbon dioxide (C) HgeIo SfeamEs
(C) Nitrogen oxide (D) TeHT AlFAEs

(D) Sulphur oxide ‘ :
40. Ovulation in the human female 4¢. #fys of o & 999 q%?vnaﬁ ¥ 9Egd:
normally take place during the Gﬂa{eﬁﬂq 2 8

menstrual cycle
(A) At the mid secondary phase (A) wem fadigs aver |

(B) Just before the end of the (B) @l a9 & 374 9 3% Yed

secretary phase
(C) At the beginning of the (C) Wicefed =xo & g&

proliferative phase '
D) et :
(D) At the end of proliferative ®) AL
phase :

41. Aligament is a fibrous connective =~ 41. e Uh WER TS 9% 2 o
tissue which connects : 949G &l 8 ,
(A) Bones to bones - (A.) efzedl q efeed @)

(B) Bones to muscles (B) EF;E'&T A m o
=} 2
(C) Muscles to muscles (C) FmfE J qeRE B
3
(D) Muscles to tendons
(D) wiHuierdt @ =g 9

CC-2001(BC)-Series-S (11)



42. The Joints having

43.

44.

no movoméﬁt
are called :

(A)
B)
©)
(D)

Synarthrosis
‘Amphiarthrosis
Diarthrosis
Kinoarthrosis

The common properties of muscles

include :
(A) Excitability
(B) Contractility

(C) Elasticity |

Y

(D) All of the above -

% P Yy
o T

Skeletal muscles are :_
e

(A) Striated muscles under

voluntary controi i
(B) Non-striated mus‘c“lés
(C) Involuntary in function

€35

(D) Found in blood vessels

The Heart is made up of 5

45.

(A) Cardiac Muscles -

(B) Skeletal Musclesgf{"&

(C) Smooth Muscles:“,?;“ (

(D) Striated MUSCIGSZ:!;;
CC-2001(BC)-Series-S (12)
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46,

47.

48.

49.
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The common symptoms of a

fracture include :
(A)
(B)
©)

Intense pain
Numbness

Swelling around the injured
area

(D) All of the above

The common imaging tests to view
the fractured bone :

(A) X-ray -

(B) CT Scan
(C) Ultrasound
(D) PET Scan

The transverse fracture includes:

(A) When a bone breaks at a
90 degree angle to the long
axis

(B) Fracture spirals around the
bone

(C) The bone bends and breaks

(D) Break is diagonal across the

bone

The structural and functional unit

of brainis:

(A) Nephron .

(B) Neuron

(C) Neuroglia

(D) Nephridia

(13)

46.

47.

48.

BFa BN & QHEE TR R
(A) 9 ;-

B) g1
(C) wifad &= & Mg-Ur" Tor

(D) Iad et

gﬁg@gﬁaﬁ%@%%mwﬁw

fpar e B

(A) T

(B) &

(C) Segrnss

(D) e (PET) @

ey e H & 8

(A) &= @ adl g & 90 felt & AT
qu g

(B) &gl & AR & @it HeFT

(C) &S & gH T g o

(D) &gt @ faver &y g

49. RIF F HEAHE @ FAHE THE

v B

(A) FwH

B) ==

(C) =gAftern
(D) swifsar




50. Myelin sheath is secreted by :
(A) Schwann cells
(B) Ghacells
(©) Neurons v
(D) Oligodendrites

51. How many major types of blood

have scientists discovered ?
A)
B)

One : Type “O”
Two : White Cells and Red

cells

Three : White cells, Red cells

and Plasma

Four : Types A, B, ABand O -

(©)

(D)
52. The cells which helps in blood
clotting : ;

(A) Red Blood Cells
(B) White Blood Cells
(C) Platelets

(D) Lymphocytes

53. The common symptom of heart

attack includes :

(A) Pain inthe chest -
(B) Nausea

(C) Vomiting

(D) Headache

C(C-2001(BC)-Series-S (14)

50.

o1.
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54.  First aid measures for heart attack

55.

56.

CC-2001(BC)-Series-S |

patients include :

(A) Have the person sit down,

rest and try to keep calm
(B) Loosen any tight clothing
(©)
D)

Give chest pain medicine

All of the above -

The first step to prevent blood loss

in bleeding injury include :
(A) Apply pressure around the

wound and dressing -

B)
(€)
D)

Give pain killer
Measure blood pressure

Have the person lay down on

the bed

The common causes of head injury

include :

(A) Accidents at home, work,

outdoors or while playing

sports
(B) Physical assault
©)
®)

Traffic accidents

All of the above -

(15)

o4.

995.

56.

gagaT AFEY 3w IwER @ ourdt

¥ onfiya @ ¢ ’

(A) T @ derd, ST #Ud ud 9rd
@ & fod @e
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(C) €M & & I a1 o

(D) TIudad |l
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g GO § oM ©

(A) 99 & IR qU% 349 S adn
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(D) =\ # wR W) A

g
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- FeT
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57. The skeleton system consists of

(A) Bones -
(B) Muscles
(C) Laver

(D) Brain

58. The major function of gkeletal

system 18 :
(A) Support °

(B) Circulation

(C) Hormone Production
(D) Sharing Sensation

59. Vertebral column is made up of :

(A) 33 Vertebrae »
(B) 23 Vertebrae
(C) 5 Vertebrae

(D) 55 Vertebrae

60. Tendons usually connect :

(A) Muscle to muscles
(B) Muscles to bones
(C) Bones to blood

(D) Bones to bones

CC-2001(BC)-Series-S

(16)
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59.

60.
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61.

63.

64.
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Which of the following is not a

function of neurotransmitter in
brain ?

(A)  Acetylcholine
(B) Serotonin
(C) Dopamine

(D) Melanin 80

- The nerve impulse conduction is

faster in -

(A) Myelinated Neuron -
(B) Non-myelinated neuron
©) Oligodendrocytes

(D) Glia cellls

: |
The portion of brain responsible for

visualization is :
(A) Foreb rz;in
(B) Midbrain
(C) Hindbrain

)

(D) Hypothalamus

The hind brain consists of :
(A) Medulla oblongata

(B) Pons region

(C) Cerebellum ¢ T
(D) All of the above

(17)
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64.
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66.

67.

68.

5. Common causes for unconscious- g5,

ness include :

Wi

(A Accadent

(B) Severe blood loss
() Drug overdose

(D) All of the above: «

Epilepsy is g A b 66

(A) Neurological disorder -«
(B) Kidney disease
(C) Spinal cord disease

(D) Gastrointestinal disorder

Focal seizures affect : 67.

(A) Both side of brain
(B) One area of brain
(C) Hind brain

(D) Forebrain

How the food Poisoning can be g8
prevented ? |

(A) Cooking meat and poultry
thoroughly

(B) Washing fruits and vegetables

before eating or cooking them
(C) Storing food properly
(D) All of the above * -

(18)

ad O @ e B g
(A) gHeT

B) iR TR (3 alf+)
(C) g &l e " § qad
(D) It al

frft we A (W) B

(A) WS § ared
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(€) O @ Bzl A Gl
(D) e aefed faer
Frep A weld AR E
(A) TRaEH B A TWE B

(B) ARass & Th & &l
(C) vy &l

(D) enmidsh &l
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(B) et Ud Wil @ @M A g g
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(D) IR gsht
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69,
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The correct sequence

” of the steps
mvolved in th

€ process of Human

Digestive System -

) Digestion, Ingestion,
Assimilation, Egestion and
Absorption

(B) Ingestion. Digestion. Absorp-
tion, Assimilation and
Egestion

(C) Egestion. Absorption,
Digestion, Assimilation and
Ingestion

D) Assimilation. Absorption,

Ingestion, Digestion and
Egestion

Food travels in alimentary canal
through these organs in the
following order :

(A) Mouth, cesophagus, stomach,
small intestine, large
Intestine and rectum

(B) Mouth, ocesophagus, stomach,
large intestine, small
Intestine and rectum

(C©) Mouth, stomach, ocesophagus,
small 1intestine, large
intestine and rectum

(D) Mouth, stomach, gullet, small

intestine, large intestine and

rectum

(19)

69,

wa § g a3 A ofsaw § anfea

(A) ==, Fadem, smammE, fesma
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71.

¢ 2

73.

74.
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The functional unit of urinary
system 18 :

(A) Neuron
(B) Nephron .
(C) Kidney
(D) Urinary bladder

The type of kidney present in
human being s :

(A) Pronephros

(B) Mesonephros

(C) Metanephros

(D) Opisthonephros

The chief excretory product in -

humanis:

(A) Urea -
(B) Uric acid
(C) Ammonia |
(D) Carnitine

The male reproductive system

include :

(A) Testes -

(B) Ovary

(C) Fallopian tube
(D) Uterus

(20)
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75. During puberty, the main hormone 75. aAred aen ¥ 36[5" g g aRE

which stimulate sexual changes in F are gl e 3w
male is :
(A) ITEETA
(A) Testosterone -
(B) .Estrogen ‘ (B) 5
(C) Progesterone (©) ;ﬁ@r{%ﬁq
(D) TSH (D) éiwqa e
76. In male, testis is located outside 76. T ﬁ qEWT QTﬁT % e Hl W 2 &
of the body because : RiifE

(A) Sperm production requlre
lesser temperature

(B) Sperm production require (B) 1Y Scdre &g .

higher temperature
(C) I IR @ ded

(A) g T B FA A AT

(C) For semen production

(D) For protection purpose . ‘ O) gon @ gite |
77. The sperm production in male  77. =X ¥ QPRI T Iedred Bl g
occurs in : : :
(A) Epididymis - aﬁéqwﬁ
(B) Rete testis (B) G‘W A
(C) Vasa deferentia ©) W%%‘“{hmﬁ
(D) Seminiferous tubules (D) dwafcarees et §
8. Main changes that occurs in male 78, g argeen § X ﬁ A T g
during puberty includes : ¥ o S
(A) Masculine body growth (A) T R c‘iﬁ&'
(B) Hair growth (B) 4l F For
(C) Penile and scrotal growth (C) fe7 wd sfeaiar § gig
(D) Iw q+dl

(D) All of the above -

(C-2001(BC)-Series-S (21)



79.

80.

81.

82.
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Testosterone is produced by -
(A) Sertoli cellgs

(B) Leydig cellg

(C) Epithelial cellg

(D) Granulosa cellg

During puberty, the hormone

stimulate sexual changesin female
18 :

(A) Testosterone

(B) Estrogeﬁ ‘

(C) ACTH

(D) TSH

The basic goal of ﬁfst aid includes:
(A) Preservé Life

(B) Prevents further harm .

(C) Promote Recovery

(D) All of the above -

How many compressions and

breaths are required for each cycle

of CPR ?

(A) 15 Compressions, 5 breaths
(B) 15 Compressions, 2 breaths
(C) 30 Compressions, 2 breaths

(D) 30 Compressions, 5 breaths

(22)
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80.

8L

QRN T I fpm ARt |
Bldar & ?

(A) wacdl i

(B) fafen @ifae

(C) udiferforie alfarenm

(D) J=geliar ifRre

Qe g B A "R H, g
YRad P IR FHA ar BEA ©
(A) R |
(B) wiior

(C) . @ .

D) & . .

e e & gaad 9w
(A) Silas # e e
(B) iR orfts g0 2 @ Jgr

() TR T TG

(D) SR g

82. WA, & 9% = 3 Py

ST W S A v A S 2
(A) 15 T, 5 varg
B) 15 wfieT, 2 sarg
(C) 30 ®i=T, 2 gag

(D) 30 94T, 5 wqryg



83.

84.

86.
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. The

The CPR methods include :
(A) Compressions

(B) Airway

(C) Breathing

(D) All of the above -

Which is not the correct step for

recovery position ?

(A)

Place nearest arm at right
angle

(B) Put the back of other hand

next to the cheek

(C) Raspthe farleg and roll them

on to their side
(D)

Close the airway -

Personal Protectiv'e
‘Equipment (P.P.E.) kit includes :

(A) Apron

(B) N95 Mask

(C) Goggles and gloves

(D) All of the above -

The first aid kit for medical chest

pain should have:
(A) Aspirin

(B) Paracetamol -
(C) Ibuprofen

(D) Omeprazole

83.

34.

85.

86.
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87. Types of bandages used in head

38.

89.

CC-2001(BC)-Series-S

and knee injury, respectively are :

A)

(B)

(€)

D)

One bandage and,two bandage

Two bandage and three

bandage

Onerfbandag;e_;jand; three

bandage

Three bandage and two
bandage

A roller bandage is used to :

(A)

B)

(©)

D)

hold a dressing in place on a
wound o

maintain pressure to control

bleeding )
support an injured limb or
joint '

all of the above -

The most important factor for

hand washing is:

(A)
(B)
(€)
D)

Friction
Time
Water

Soap

(94
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Rie od ged # e J I BN g
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90.

91.

92.

The respiration includes :

(A) O, inhalation

(B) CO, removal

(C) Urea elimination

(D) Both (A) and (B) -

The LGBT community includes :
(A) Lesbian

B) Gay

(C) Bisexual and Transgender

(D) All of the above *

The photosensitive innermost layer

of eye is :

(A) Uvea
(B) Retina *
(C) Cornea

(D) Sclera

93. The senses of touch is detected by:

CC-ZOOl(BC)—Series-S

(A) Somatosensory system ’
(B) Photoreceptors
(C) Proprioreceptors

D) Mechanoreceptors

(25)
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94.

95.

96.
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The receptors for transduction of
the mechanical wave into an

electrical signal i1s located in :
(A) Cochlea

(B) Fovea

(C) Outer ear

(D) Eardrum

Natrional Institute of Disaster

I\'Iana-gement is located in :

(A) Delhi
(B)
©)
D)

POCSO stand for:

Maharashtra

Uttar Pradesh

Bihar

(A) Protection of Children from

Sexual Offences

Prevention of Children from
Sexual Offences

(B)

Prohibition of Children from
Sexual Offences

©)

Prohibition of Children from
Sexual Abuse

(D)

(26)
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97. Prevention of sexually transmitted

diseases can be done by :

(A) Using condoms

(B) Having multiple sex partners
(C) Using disposable syringes
(D) All of the above

98. The milk production is stimulated
by :

(A) Prolactin hormone -
(B) Melatonin

(C) TSH

(D) FSH

99. The main objective of “Heimlich”
procedure 1s to :
(A) Check if victim is breathing or
not
(B) Removea blockage in victims
airway
(C) Make victim conscious

(D) All of the above .

100. Which of the following is the most

common mental health condition?

(A) Schizophrenia
(B) Bi-polar disorder

Compulsive

(C) Obsessive
Disorder (OCD)

(D) Mixed anxiety and depression .

CC-2001(BC)-Series—S (27)

97. A daifra 79t F @A TE A A%l

g 9V
(A) FZH 1 U4 FE
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98. ?qWW?ﬁTW?ﬁT?
(A) T B
(B) HaeI
(C) d.Ta. .
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I
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